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Financial Management _
Time Allowed — 3 Hours  and Economics for Finance Maximum Marks - 100
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Answers to questions are to be given only in English except in the case of candidates
who have opted for Hindi Medium. If a candidate who has not opted for Hindi Medium,

his / her answers in Hindi will not be valued.

SECTION - A Marks : 60
Question No. 1 is compulsory.

Candidates are also required to answer any four questions from the

remaiining five questions.
Working notes should form part of the respectfve answers.
Marks
1. (a) Following information has been gathered from the books of TramLtd.  §
the equity share of which is trading in the stock market at ¥ 14.

Particulars Amount (%)
Equity Share Capital (face value ¥ 10) - 10,00,000
10% preference Shares 2,00,000
Reserves 8,00,000
10% Debentures 6,00,000
Profit before Interest and Tax for the year 4,00,000
Interest ' 60,000
Profit after Tax for the year 2,40,000
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2)
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Calculate the following : .5, J srgl
(i) Return on Capital E}Illp&();’ed e
(i) Earnings per share

(iii) PE ratio

Door Ltd. is considering an investment of ¥ 4,00,000. This investment 5
is expected to generate substantial cash inflows over the next five
years. Unfortunately the annual cash flows from this investment is
uncertain, but the following probability distribution has been
established.

Annual Cash Flow (%) Probability
50,000 0.3
1,00,000 0.3
1,50,000 0.4

At the end of its 5 years life, the investment is expected to have a
residual value of ¥ 40,000.

The cost of capital is 5%.
(1) Calculate NPV under the three different scenarios.
(ii) Calculate Expected Net Present Value

(iii) Advise Door Ltd. on whether the investment is to be undertaken.

Year 1 2 3 4 5

DF @ 5% | 0.952 | 0.907 | 0.864 | 0.823 | 0.784

NSR-H
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(c) Following figures and information were extracted from the company

A Ltd.

Earnings of the company

Dividend paid

No. of shares outstanding

Price earnings Ratio

Rate of return on investment

3)
NSR-H

< 10,00,000
< 6,00,000

You are required to calculate :

(1) Current Market price of the share

(i) Capitalisation rate of its risk class.

(iii) What should be the optimum payout ratio ?

(iv) What should be the market price per share at optimal payout

ratio ? (use Walter’s Model)

(d) A company has ¥ 1,00,000 available for investment and has identified

the following four investments in which to invest.

Project Investment () NPV )
C 40,000 20,000
D 1,00,000 35,000
E 50,000 24,000
F 60,000 18,000

You are required to optimize the returns from a package of projects

within the capital spending limit if

(i) The projects are independent of each other and are divisible.

(i) The projects are not divisible.

NSR-H
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2. The Balance Sheet of Gitashree Ltd. is given below :
Liabilities 3
Shareholders’ fund
Equity share capital of ¥ 10 each ¥ 1,80,000
Retained earnings - 360,000 | 2,40,000
Non-current liabilities 10% debt 2,40,000
Current liabilities 1,20,000
| 6,00,000
Assets
Fixed Assets 4,50,000
Current Assets 1,50,000
6,00,000

The company’s total asset turnover ratio is 4. Its fixed operating cost is
% 2,00,000 and its variable operating cost ratio is 60%. The income tax rate
is 30%.
Calculate :
(i) (a) Degree of Operating leverage.

(b) Degree of Financial leverage.

(¢) Degree of Combined leverage.
(ii) Find out EBIT if EPSis (a)¥ 1 (b) ¥ 2 and (c) X 0.

3.  Slide Ltd. is preparing a cash flow forecast for the three months period from
January to the end of March. The following sales volumes have been

forecasted :

December | January | February | March | April
Sales (units) 1800 . 1875 1950 2100 | 2250

NSR-H
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Selling price per unit is ¥ 600. Sales are all on one month credit. Production
of goods for sale takes place one month before sales. Each unit produced
requires two units of raw materials costing ¥ 150 per unit. No raw material
inventory is held. Raw materials purchases are on one month credit.
Variable overheads and wages equal to ¥ 100 per unit are incurred during
production and paid in the month of production. The opening cash balance
on 1* January is expected to be ¥ 35,000. A long term loan of ¥ 2,00,000 is
expected to be received ‘in the month of March. A machine costing
< 3,00,000 will be purchased in March.

(a) Prepare a cash budget for the months of January, February and March

and calculate the cash balance at the end of each month in the three
months period.

(b) Calculate the forecast current ratio at the end of the three months
period.

Loft Ltd. is considering an investment in new technology that will reduce 10
operating costs through increasing efficiency. The new technology will cost

% 5,00,000 and have a four year life at the end of which it will have a
residual value of ¥ 50,000.

An annual license fee of ¥ 52,000 is payable to operate the machine. The
plirchase can be financed by 10% loan payable in equal installments at the
end of each of four years. The depreciation is to be charged as per reducing
balance method. The rate of depreciation is 25% per annum.

Alternatively Loft Ltd. could. lease the new technology. The Company
would pay four annual lease rentals of ¥ 1,90,000 per year. The annual lease
rentals include the cost of license fee. Tax rate is 30%. Compute the
incremental cash flows under each option. What would be the appropriate
rate at which these cash flows have to be discounted ? Discount the
incremental cash flows under each option and decide which option is better
— buy or lease ? '

© The Institute of Chartered Accountants of India

Year 1 )4 3 4
DF @7% 0.935 0.873 0.816 0.763
DF @10% 0.909 0.826 0.751 0.683
NSR-H P.T.O.
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A Company wants to raise additional finance of ¥ 5 crore in the next year.
The company expects to retain ¥ 1 crore earning next year. Further details

are as follows :
(i) The amount will be raised by equity and debt in the ratio of 3 : 1.

(i) The additional issue of equity shares will result in price per share
being fixed at ¥ 25.

(iii) The debt capital raised by way of term loan will cost 10% for the first
T 75 lakh and 12% for the next ¥ 50 lakh.

(iv) The net expected dividend on equity shares is ¥ 2.00 per share. The

dividend is expected to grow at the rate of 5%.
(v) Income tax rate is 25%.
You are required :

(@) To determine the amount of equity and debt for raising additional

finance.
(b) To determine the post tax average cost of additional debt.
(¢) To determine the cost of retained earnings and cost of equity.

(d) To compute the overall weighted average cost of additional finance

after tax.

(@) Briefly explain the three finance function decisions.
(b) Explain the steps while using the equivalent annualized criterion.
(c) Explain the significance of Cost of Capital . ' |

OR

Briefly describe any four sources of short term finance.

NSR-H
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SECTION-B Marks : 40

Question No. 7 is compulsory.
Answer any three questions from the rest.
Working notes should form part of the respective answers.

. (a) Compute the amount of subsidies from the following data : 3
GDP at market price (% in crores) 7,79,567
Indirect Taxes (% in crores) 4,54,367
GDP at factor cost (% in crores)  3,60,815
(b) What do you mean by ‘Global Public goods’. Explain in brief. 2
(c) Compute reserve money from the following data published by RBI : 3
(X in crores)
Net RBI credit to the government 8,51,651
RBI Credit to the commercial sector 2,62,115
RBI’s claim on Banks 4,10,315
Government’s Currency liabilities to the public 1,85,060
RBTI’s net foreign assets 72,133
RBI’s net non-monetary liabilities 68,032
(d) Explain the term ‘real exchange rate’. 2

(@) (i) Describe the problems in administering an efficient pollution tax.
(i) Explain the open market operations conducted by RBI.

(b) (i) Explain the key features of modern theory of international trade.
(i) Distinguish between ‘pump priming’ and ‘compensatory
spending’.

N W N W

(@) The price index for exports of Bangladesh in the year 2018-19 (based 5
on 2010-11) was 233.73 and the price index for imports of it was
220.50 (based on 2010-11)

(i) What do these figures mean ?

(ii) Calculate the index of terms of trade for Bangladesh.

(iii) How would you interpret the index of terms of trade for
Bangladesh ?

NSR-H P.T.O.
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Explain the consumption function using a suitable table and
diagram.
Distinguish between positive and negative externalities.

Explain the circular flow of income in an economy.
How does the WTO agreement ensure market access ?

How does a discretionary fiscal policy help in correcting
instabilities in the economy ?
Explain ‘Reverse Repo Rate’.

Compute NNP at factor cost or national income from the
following data using income method :

R in crores)
Compensation of employees 3,000
Mixed income of self-employed 1,050
Indirect taxes 480
Subsidies 630
Depreciation : 428
Rent 1,020
Interest 2,010
Profit. 980
Net factor income from abroad 370

Compute credit multiplier if the Required Reserve Ratio is 10%
and 12.5% for every  1,00,000 deposited in the banking system.
What will be the total credit money created by the banking
system'in each case ?

Explain the neo-classical approach to demand for money.
What is ‘Recessionary Gap’ ?

OR *
What is meant by ‘Bound tariff’ ?

NSR-H
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(Hindi Version)

Marks

37 TR $ Brew Frgh Rl wrem 91 2, Tt 3 S et S A A A E
a8 wigreff e R mem i g g, R A smdm , aws e dfam
' ST 1 oI TR BT | |

q-A

e gE 1 FfFEE R

Sty ey & et A et 35 TR AR

% ewforf (Working Notes) TR % | B =fET |

WHTEREZ 14 AR @R |

feaTor W ®)
THAT W gt (3ifha 47 ¥ 10) 10,00,000
10% e 3 2,00,000
8,00,000
10% T 6,00,000
T4 7 A TE F A G A 4,00,000
= 60,000
CLEC T I N 2,40,000

NSR-H
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o= <Y o R

G) T deft o e

i) Sfd MR I
(iii) T[T 3 ITATA

(b) R fafrE T 4,00,000 F fafam w far = @ 2 | 3@ fafam @
3Tl gt a§t o Tt (substantial) VS FA=ETE Icd~ LA hi M
1 St & | geivraw 3@ fafaeim & Qs srate aTRfea &, foveg T

(10)
NSR-H

FRITEAT T (probability distribution) Ty e T §

1 AFe Y418 ) HETEAT
50,000 0.3
1,00,000 0.3
1,50,000 04

3T <t S & 6 fafrim % 5 ot % Siea & uvaEn e SEiE

T T 40,000 BN |
$ft Y wmTa 5% # |

) Tl im g 3 g adae e 6 e R |
(i) AT Yg TAHH e Y U1 |

Git) SR Rrfirs @ st & R o R e e |
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v 1 2 3 4 5
5% WagIHa®h | 0.952 | 0.907 | 0.864 | 0.823 | 0.784
NSR-H
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o= g 9 it v Frht A fAfiRs A e &

FHE Y A % 10,00,000
T fora T % 6,00,000
ST AN T T 2,00,000
eI -3 ATATd 10

o @ e i = | 20%
ma&mﬁmﬁ%%mﬁ:

() 373 I 1oL TSR G
(i) FHh! SNigw Sft 6 Jeftetor
(i) FETH YT ST T T <R 2

(iv) FETH YT U T i S STSIR Yoo 97 E141 =118T 2 (Teek
HTSH T TANT ) |

T FeAt o ar fafa 2g % 1,00,000 Suere § it frm = w fafimt

H yga i g f 6 fafrem e s 2
e | fafEmR) S TH I )
C 40,000 20,000
D 1,00,000 35,000
E 50,000 24,000
F 60,000 18,000
AT oht 7 ) W 5 st ST 3 3 B I A
(optimize returns) Y TR i 1A B Afe |

@) 1:IJF{'!ﬁ\_:FI'I'&11${Gﬁ_(each other)ﬁﬁﬁﬁﬂﬁﬂ'lﬂ% |
(i) afe afEeFTd ferrs 7€ § |

NSR-H

© The Institute of Chartered Accountants of India

Marks

P.T.O.



z,

(12) -

| NSR-H
Tiramsft fafiree =t anfdes g = T @
e X
FETIE Y
T 9 et 2 10 9 ¥ 1,80,000
yqftra 3T 260,000 | 240,000
M= SR 10% R0 2,40,000
1] g 1,20,000
6,00,000
wmfat z
TRt et ~4,50,000
e weafEt 1,50,000
6,00,000

A H PO TR HEG IHIE 4 R lwﬁmqﬁamm
2 2,00,000 & 9 38! TREdTE TREATEH TG TIIA 60% & | SAFH

30% & |

MR : '

@ () qﬁamzﬂ’mﬁ%n‘t
) forfia 3o 6t feft
(c) Hﬂﬂﬁmiﬁ%ﬂ

(ii) m@ﬁﬁ{q‘ﬁmmmr)ﬁmﬁa&uﬁww

(EPS)®:(a). % 1,(b) T2F(c) ?0.

ToTEe Rt et & Wl 3 i WIE W1 JeS SaTE g R o @

2 | froe R e 1 qEigA R

feamg | S9ah | wEh

e |

Tawa (3HEAl) | 1800 | 1875 | 1950

2100 | 2250

NSR-H
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wfer wohs Fosha T 2 600 # | Wit e R S suR W # | R ¥
A 1 I, sha | O 718 06 & @ | Ierfen O b % R et
it <6t 2 FeTEEl Y T 150 e 5T < X @ STavaRaT Bt @ | T AT
%t amaft Wi E St @ | = A FFA T A F UK WA R
IeqTe % SR RadRlie 79 9 Aol AT R 39 ¢ 100 & R
YAH IcA1E & A1g H X fean S @ | 1 Sad @ dsve 1 IR Ay
¥ 35,000 BN <t 3TIRM ] | AT & 2 2,00,000 % T SreHTEA BT WIS B Y
3T R | % 3,00,000 AT a1l Tep A AT & 331 Bt St |

(a) A, HEd, AT ATE % 7Y T Ue 99 7R 9 6 A Ef ¥
uﬁmmﬁﬁaﬁﬁwﬁmaﬁml

(b) oF AR af ¥ F=<1 § @G WIe] I (Forecast Current
Ratio) ¥ 79T hifTT | -

mm@ﬁm(technology)ﬁﬁfﬁﬁﬂﬂﬁi‘l’(ﬁ@%iﬁ
T wrdamar & gfg @ g IREer A B B9 HE | T e 6
TR T 5,00,000 Eft 9 FHenT e W) a8t %1 g Riwd = o T
mmqaz‘sooooml

TR HETE 3 T 52,000 T AH ATTHY Yooh 24 R | 4 R 10%
R § T w1 whan & Rt W 4 ot & s 9 % = § e v
ﬁ%ﬂ?ﬂ'ﬂ |mﬁuzeﬁﬁwaﬁr (reducing balance method) ‘T(FFTFIT% |
BT I G 25% e 2 |

A I W A fifite T DR B R WS Twd | S SR
fies vgar femtmat =1 Wi o 2 1,90,000 A HA | iR wgt R &
mmﬁmmélmﬁaso%%lmﬁmﬁm

Uk TETE 1 oM L | ITIFT G 1 A e w6 57 b sl @

g foha <1 v ?mﬁm%qﬁﬁﬁﬁmmma@maﬁﬁQa
faverm Hifvre o o9 o1 foheq s R T FT T R WA 2

CL| 1 2 3 4
@7% qgraes | 0.935 | 0.873 | 0.816 | 0.763
@10%€ZT 9% | 0.909 | 0.826 | 0.751 | 0.683

Marks
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5. U HE o0Te ¥ T 5 HS 1 Afaird RE AN AER R | FEA1FAE 10
ﬁm_mﬁaﬁwr@ﬁaﬁmm%lanﬁ%mﬁﬂaﬁ:
q) URTERaTa W/ 3 : 1 % A A oA St |
(i) R war ot % i % aftomeeEd gid 3 EI % 25 WA
Ll ’
(iii) 3R & (term loan) % HTEH & Tt W el K0T ST H AEIG FH
275 @ ¥q 10% F 3T T 50 TG o FIC 129% R | ‘
(iv) AT 3T O [ ST S S S 2 R | A A 5% AR
gfgH A IR |
(v) TR B R25% ¢ |
Fo I §
(a) St e S <6 T 9 0 i TR H & HE |
(b) SR 01 #ht U wwET Shed AT i AT F |
(c) ST ST Y AT o T Y T I (AR e |
@ aﬁﬁﬁﬁaﬁwmﬁﬁaﬂmiﬁﬁaﬁmmmﬁm

HET |
6. (a) Tomsd® i fuil o w&q & quensy 3
(b) TEHH N WIIEUE 1 & H R e =rwn  wwae | 3
© %ﬁﬁm%uﬁﬁmﬁm ' 4
e
eTel e 3 e s Eiat ot wifdm  fererer o | 4

NSR-H
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(@)

(b)
(©)

(d)

(a)

(b)

(a)
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-9 Marks : 40

S T 7 Ha f |

T e A | B f e o 3w i |

wrdvfe feuafort 3o =t wmr gt |
3 TSl & IS (subsidies) i TR T IR HIRT -
TR e W Hehel T 3eTE (U TH) 7,79,567
AT (P T H) 4,54,367
| AT R Hehed TR Ieq1E (e T H) 3,60,815
AR A TG A 19 o T § 7 G N T |
Whﬁéﬁmmﬁmmmgaﬁmw (Reserve
Money)aﬂmﬁm:

@t Al FA T H)
Net RBI credit to the government 8,51,651
RBI Credit to the commercial sector 2,62,115
RBI’s claim on Banks 4,10,315
Government’s Currency liabilities to the public 1,85,060
RBI’s net foreign assets 72,133
RBI’s net non-monetary liabilities , 68,032

ATt fafawa g 6 amon #) aweng |

@) ﬁwwm%mﬁmﬁml

(i) R fioTe e gRT Y 1 el g AR 6 R g |

() R SR & 3nyfes Rrgr ) g7 fovant s |
(i) 9 HSHM IR Ffrqeh @ F qex i HRA |

T4 2018-19 % ST 1 il w1 e Frdien (2010-11 W s

233.73 1 & AT 1 e FIEH (2010-11 W STERE) 220,50 o1 :

() ¥ Frcues dEmatt w aref R 2

(ii) AT hi SATIR el & Frderies H1 aRepe ERA |

(iii) 3TH AT hi SATIR Tt & H1 F2 Frgerwor 81 2
NSR-H
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(ii)

10. (@ @)
(ii)
(b) @

(ii)

1. @ @

(ii)

® O

(ii)

(16)
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Wwwﬁawmm@wﬁnwﬁwﬁl
HTIETe U6 eI STe] HIh! § STt qared |
srefeEe ¥ T % I TETE Y T |
WTO TweitaT STo/R U8a 1 & giifvea w2 ?

e 6 st B g w0 § fremda T i
T TR FETEA BT 8 2 | , *
‘Reverse Repo Rate’ & quEEd |

WWWWWW(NW)MT@HWﬁW

37 Ffr ot e & fre atest & Fifa
@t 3l Fg TH)
Compensation of employees 3,000
Mixed income of self-employed 1,050
Indirect taxes 480
Subsidies 630
Depreciation 428
Rent 1,020
Interest 2,010
Profit 980
Net factor income from abroad 370

T T 1,00,000 R ST SR # ST W AT¢ Required Reserve
Ratio 10% T 12.5% ) 78 TG 70T < T0RT B | Se3eh Qe
fRrfet it SR e & e are g e gfva gt 2

Hal Atn ¥ T4 Wiatsd '{ﬁﬁ"ﬂ (neo-classical approach) I
AT | :
‘Recessionary Gap’ ¥4 BT ?
RAYAT
‘Bound tariff’ & T HHEA & ?

NSR-H
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